

600 Hatheway Road, Suite 203, Vancouver, WA 98661 360.347.6399

July 12, 2025

Cody Rosander Public Works Director Stevenson Public Works 7121 E Loop Rd, Stevenson, WA 98648

Re: Bid Results, SW Cascade Avenue Utility Improvements

Dear Cody,

Bids for the above-referenced project were opened and read aloud on June 24th, 2025. Five contractors submitted bids for the project. The lowest base bid was submitted by Swofford Excavating in the pre-tax amount of \$745,206.00. The pre-tax amount for bid additive A is \$33,250.00 for a total pre-tax bid amount of \$778,456.00. See the attached bid tabulation for additional details.

A review of the Swofford Excavating bid documents and supplemental post-bid submittals concluded they are the lowest, responsive and responsible bidder. Therefore, we recommend the contract be awarded to Swofford Excavating .

The information contained herein and in the attached documentation is provided to you for reference and use in your decision to award the Contract. Thank you for the opportunity to assist the City of Stevenson with this process, we look forward to the successful completion of the project.

Sincerely,

Kyle Thompson DN: C=US, E=kyle thompson@graylineng.com, O="Grayling Engineers, PLLC", CN=Kyle Thompson Date: 2025.07.12 14:28:38-07'00'

Kyle Thompson Civil Engineer

Attachments: Bid Tabulation Swofford Excavating Responsive Summary Swofford Excavating Post-Bid Submittal

BID TABULATION

Bid Tabulation



Project:	SW Cascade Avenue Utility Improvements							
Project number:	2408A							
By:	Danica Flood	Date:	7/8/2025					
Checked:	Kyle Thompson, PE	Date:	7/12/2025					

Base Bid

				Engineer's	Estimate	Swofford Ex	cavating	IB	c	NW Cons	truction	Crest	line	Aj	ax
Item	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	MINOR CHANGE	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
2	MOBILIZATION	1	LS	\$35,289.75	\$35,289.75	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$131,000.00	\$131,000.00	\$98,500.00	\$98,500.00	\$115,000.00	\$115,000.00
3	PROJECT TEMPORARY TRAFFIC CONTROL	1	LS	\$45,000.00	\$45,000.00	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00	\$55,000.00	\$55,000.00	\$68,000.00	\$68,000.00
4	AS-BUILT DRAWINGS (MINIMUM \$500 BID)	1	LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
5	SPCC PLAN	1	LS	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00	\$500.00	\$500.00	\$500.00	\$500.00
6	HMA CI. 1/2" PG 64-22	155	TON	\$300.00	\$46,500.00	\$200.00	\$31,000.00	\$220.00	\$34,100.00	\$230.00	\$35,650.00	\$331.00	\$51,305.00	\$300.00	\$46,500.00
	2 IN. DEPTH TEMPORARY TRENCH RESTORATION	541	SY	\$50.00	\$27,050.00	\$135.00	\$73,035.00	\$39.00	\$21,099.00	\$50.00	\$27,050.00	\$62.00	\$33,542.00	\$30.00	\$16,230.00
8	SOLID WALL PVC STORM SEWER PIPE 8 IN. DIAM.	82	LF	\$160.00	\$13,120.00	\$80.00	\$6,560.00	\$125.00	\$10,250.00	\$107.00	\$8,774.00	\$86.00	\$7,052.00	\$118.00	\$9,676.00
	48 IN. DIAM. CONCRETE SANITARY SEWER MANHOLES	3	EA	\$8,000.00	\$24,000.00	\$5,600.00	\$16,800.00	\$5,500.00	\$16,500.00	\$7,500.00	\$22,500.00	\$6,000.00	\$18,000.00	\$6,200.00	\$18,600.00
10	CONCRETE MANHOLES, SANITARY SEWER SADDLE	1	EA	\$10,500.00	\$10,500.00	\$5,600.00	\$5,600.00	\$7,000.00	\$7,000.00	\$9,500.00	\$9,500.00	\$6,200.00	\$6,200.00	\$9,300.00	\$9,300.00
11	TRANSITION MANHOLE	1	EA	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$6,200.00	\$6,200.00	\$19,000.00	\$19,000.00	\$18,000.00	\$18,000.00	\$13,100.00	\$13,100.00
12	ABANDON EXISTING MANHOLES	2	EA	\$2,500.00	\$5,000.00	\$5,500.00	\$11,000.00	\$4,500.00	\$9,000.00	\$3,000.00	\$6,000.00	\$750.00	\$1,500.00	\$1,550.00	\$3,100.00
13	ABANDON EXISTING SANITARY SEWER PIPE	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$1,850.00	\$1,850.00
14	CATCH BASIN	1	EA	\$5,000.00	\$5,000.00	\$4,900.00	\$4,900.00	\$2,500.00	\$2,500.00	\$2,250.00	\$2,250.00	\$2,800.00	\$2,800.00	\$4,175.00	\$4,175.00
15	TRENCH SAFETY SYSTEM (MINIMUM BID \$1/LF)	973	LF	\$5.00	\$4,865.00	\$3.00	\$2,919.00	\$5.00	\$4,865.00	\$2.00	\$1,946.00	\$1.00	\$973.00	\$6.00	\$5,838.00
16	REMOVAL AND REPLACEMENT OF UNSUITABLE	10	CY	\$100.00	\$1,000.00	\$50.00	\$500.00	\$162.00	\$1,620.00	\$300.00	\$3,000.00	\$92.00	\$920.00	\$100.00	\$1,000.00
17	CONNECTION TO EXISTING WATER MAIN	3	EA	\$2,500.00	\$7,500.00	\$7,250.00	\$21,750.00	\$1,100.00	\$3,300.00	\$1,500.00	\$4,500.00	\$5,400.00	\$16,200.00	\$2,800.00	\$8,400.00
18	CUT, PLUG, AND ABANDON WATER MAIN	1	LS	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,850.00	\$1,850.00	\$6,500.00	\$6,500.00
19	8 IN. DIAM. DI SMALL FITTING WITH JOINT	4	EA	\$430.00	\$1,720.00	\$1,930.00	\$7,720.00	\$850.00	\$3,400.00	\$900.00	\$3,600.00	\$825.00	\$3,300.00	\$1,650.00	\$6,600.00
20	8 IN. DIAM. DI LARGE FITTING WITH JOINT	2	EA	\$680.00	\$1,360.00	\$2,500.00	\$5,000.00	\$1,000.00	\$2,000.00	\$1,575.00	\$3,150.00	\$1,100.00	\$2,200.00	\$2,600.00	\$5,200.00
21	8 IN. DIAM. DR11 HDPE WATER MAIN	210	LF	\$155.00	\$32,550.00	\$115.00	\$24,150.00	\$145.00	\$30,450.00	\$105.00	\$22,050.00	\$106.00	\$22,260.00	\$175.00	\$36,750.00
22	8 IN. DIAM. DR11 HDPE PIPE BURSTING	1224	LF	\$100.00	\$122,400.00	\$70.00	\$85,680.00	\$145.00	\$177,480.00	\$75.00	\$91,800.00	\$102.00	\$124,848.00	\$175.00	\$214,200.00
23	ASBESTOS CEMENT PIPE REMOVAL	1	LS	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00	\$7,500.00	\$7,500.00	\$1,300.00	\$1,300.00	\$7,700.00	\$7,700.00
24	8 IN. GATE VALVE	8	EA	\$3,500.00	\$28,000.00	\$4,500.00	\$36,000.00	\$1,200.00	\$9,600.00	\$2,500.00	\$20,000.00	\$2,800.00	\$22,400.00	\$3,400.00	\$27,200.00
25	FIRE SUPPRESSION CXN ASSEMBLY	2	EA	\$3,000.00	\$6,000.00	\$7,900.00	\$15,800.00	\$3,200.00	\$6,400.00	\$7,000.00	\$14,000.00	\$5,500.00	\$11,000.00	\$8,750.00	\$17,500.00
26	HYDRANT ASSEMBLY	4	EA	\$7,500.00	\$30,000.00	\$12,900.00	\$51,600.00	\$13,000.00	\$52,000.00	\$12,000.00	\$48,000.00	\$10,400.00	\$41,600.00	\$11,250.00	\$45,000.00
27	WATER SERVICE CONNECTION 1 IN. DIAM., NEAR SIDE	2	EA	\$2,500.00	\$5,000.00	\$2,800.00	\$5,600.00	\$3,500.00	\$7,000.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00
28	WATER SERVICE CONNECTION 1 IN. DIAM., FAR SIDE	6	EA	\$3,500.00	\$21,000.00	\$2,500.00	\$15,000.00	\$3,500.00	\$21,000.00	\$3,500.00	\$21,000.00	\$4,875.00	\$29,250.00	\$4,000.00	\$24,000.00
29	WATER SERVICE CONNECTION 2 IN. DIAM., NEAR SIDE	1	EA	\$3,000.00	\$3,000.00	\$3,900.00	\$3,900.00	\$4,000.00	\$4,000.00	\$9,000.00	\$9,000.00	\$6,200.00	\$6,200.00	\$8,700.00	\$8,700.00
30	SAMPLING STATION	1	EA	\$3,500.00	\$3,500.00	\$3,800.00	\$3,800.00	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00	\$5,650.00	\$5,650.00	\$7,000.00	\$7,000.00
31	12 IN. DIAM. SDR 35 PVC SEWER MAIN	973	LF	\$110.00	\$107,030.00	\$119.00	\$115,787.00	\$138.00	\$134,274.00	\$112.00	\$108,976.00	\$121.00	\$117,733.00	\$168.00	\$163,464.00
32	6 IN. DIAM. C900 PVC SEWER FORCE MAIN	35	LF	\$90.00	\$3,150.00	\$200.00	\$7,000.00	\$110.00	\$3,850.00	\$245.00	\$8,575.00	\$133.00	\$4,655.00	\$154.00	\$5,390.00
33	6 IN DIAM. C900 PVC SMALL FITTING WITH JOINT	4	EA	\$500.00	\$2,000.00	\$1,300.00	\$5,200.00	\$750.00	\$3,000.00	\$275.00	\$1,100.00	\$550.00	\$2,200.00	\$1,350.00	\$5,400.00
34	SEWER SERVICE CONNECTION, SOUTH SIDE	7	EA	\$5,000.00	\$35,000.00	\$3,190.00	\$22,330.00	\$4,000.00	\$28,000.00	\$6,000.00	\$42,000.00	\$6,500.00	\$45,500.00	\$6,200.00	\$43,400.00
35	EROSION CONTROL AND WATER POLLUTION	1	LS	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$6,200.00	\$6,200.00
36	ROADSIDE RESTORATION	1	LS	\$2,000.00	\$2,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$10,000.00	\$10,000.00
37	CEMENT CONCRETE TRAFFIC CURB	260	LF	\$100.00	\$26,000.00	\$40.00	\$10,400.00	\$85.00	\$22,100.00	\$72.00	\$18,720.00	\$99.00	\$25,740.00	\$88.00	\$22,880.00
38	CEMENT CONCRETE SIDEWALK	133	SY	\$350.00	\$46,550.00	\$75.00	\$9,975.00	\$170.00	\$22,610.00	\$239.00	\$31,787.00	\$216.00	\$28,728.00	\$185.00	\$24,605.00
39	STAMPED DECORATIVE CONCRETE	20	SY	\$656.00	\$13,120.00	\$170.00	\$3,400.00	\$1,200.00	\$24,000.00	\$1,330.00	\$26,600.00	\$1,275.00	\$25,500.00	\$1,350.00	\$27,000.00
		Subtotal			\$764,204.75		\$745,206.00		\$786,098.00		\$802,278.00		\$858,906.00		\$1,056,458.00
		Sales Tax @	7.70%		\$58,843.77		\$57,380.86		\$60,529.55		\$61,775.41		\$66,135.76		\$81,347.27
		Total			\$823,048.52		\$802,586.86		\$846,627.55		\$864,053.41		\$925,041.76		\$1,137,805.27

Bid Additive	Α														
				Engineer's Estimate		Engineer's Estimate Swofford Excavating		IBC		NW Construction		Crestline		Ajax	
Item	Description	Quantity	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	LIGHT POLE RELOCATION	5	EA	\$5,000.00	\$25,000.00	\$6,500.00	\$32,500.00	\$13,000.00	\$65,000.00	\$11,500.00	\$57,500.00	\$11,000.00	\$55,000.00	\$6,000.00	\$30,000.00
2	CEMENT CONCRETE SIDEWALK	10	SY	\$350.00	\$3,500.00	\$75.00	\$750.00	\$175.00	\$1,750.00	\$290.00	\$2,900.00	\$218.00	\$2,180.00	\$185.00	\$1,850.00
	Subtotal				\$28,500.00		\$33,250.00		\$66,750.00		\$60,400.00		\$57,180.00		\$31,850.00
	Sales Tax @ 7.70%			\$2,194.50	\$2,194.50 \$2,560.25			\$5,139.75	75 \$4,650.80			\$4,402.86		\$2,452.45	
Total			\$30,694.50		\$35,810.25		\$71,889.75		\$65,050.80		\$61,582.86		\$34,302.45		

Summary

		Engineer's Estimate	Swofford Excavating	IBC	NW Construction	Crestline	Ajax
Item	Description	Total	Total	Total	Total	Total	Total
1	Base Bid	\$823,048.52	\$802,586.86	\$846,627.55	\$864,053.41	\$925,041.76	\$1,137,805.27
2	Base Bid + Bid Additive A	\$853,743.02	\$838,397.11	\$918,517.30	\$929,104.21	\$986,624.62	\$1,172,107.72
	Correct proposal form included		Yes	Yes	Yes	Yes	Yes
	Addenda acknowledged		Yes	No	Yes	Yes	Yes
	Certification of Compliance with Wage Payment Statutes		Yes	Yes	No	Yes	Yes
	Proposal signature page		Yes	Yes	Yes	Yes	Yes
	Bid deposit		Yes	Yes	Yes	Yes	Yes
	Supplemental bidder responsibility criteria		Yes	Not Reviewed	Not Reviewed	Not Reviewed	Not Reviewed
	Mandatory bidder responsibility criteria		Yes	Not Reviewed	Not Reviewed	Not Reviewed	Not Reviewed
	Status		Lowest, Responsive	N/A	N/A	N/A	N/A

LEGEND:

1. Cells highlighted red indicate inconsistent addition/multiplication from the bid tab of that Contractor.

SWOFFORD EXCAVATING RESPONSIVE SUMMARY

Cascade Avenue Utility Improvements

Contractors

SWOFFORD EXCAVATING LLC

Owner or tradesperson Principals SWOFFORD, JOSEPH REX, PARTNER/MEMBER

SWOFFORD, DEBRA ANN, PARTNER/MEMBER

Doing business as **SWOFFORD EXCAVATING LLC**

WA UBI No. 604 079 777 211 NAGEL RD WASHOUGAL, WA 98671 360-771-5037 CLARK County

Business type Limited Liability Company Governing persons DEBRA

SWOFFORD JOSEPH SWOFFORD;

Registration

Verify the contractor's active registration / license / certification (depending on trade) and any past violations. Construction Contractor Active

Active Meets current requirements.

License specialties GENERAL License no. SWOFFEL809DC Effective — expiration 03/03/2020— 03/04/2026 L&I Contractor Registration: 1-800-647-0982 - Email: ContReg@Lni.wa.gov

Bond

Western Surety Co Bond account no. 63078269

Received by L&I 06/25/2025

Bond history

Insurance

Champlain Specialty Insurance Policy no. CSAR-CGL-0002291-03

Received by L&I 06/25/2025 \$30,000.00

Effective date 06/25/2025 Expiration date Until Canceled

\$1,000,000.00

Effective date 06/24/2025 Expiration date 06/24/2026

Insurance history

Savings No savings accounts during the previous 6 year period. Lawsuits against the bond or savings

No lawsuits against the bond or savings accounts during the previous 6 year period.

L&I Tax debts

No L&I tax debts are recorded for this contractor license during the previous 6 year period, but some debts may be recorded by other agencies.

License Violations

No license violations during the previous 6 year period.

Certifications & Endorsements

OMWBE Certifications

No active certifications exist for this business.

Apprentice Training Agent

No active Washington registered apprentices exist for this business. Washington allows the use of apprentices registered with Oregon or Montana. Contact the Oregon Bureau of Labor & Industries or Montana Department of Labor & Industry to verify if this business has apprentices.

Workers' Comp

Do you know if the business has employees? If so, verify the business is up-to-date on workers' comp premiums.

L&I Account ID 641,128-00

Account is current.

Doing business as

SWOFFORD EXCAVATING

Estimated workers reported Quarter 1 of Year 2025 "7 to 10 Workers" Workers' Comp Account Contact T0 / DAVID PRYOR (360) 902-5617 - Email: PRYD235@lni.wa.gov

Public Works Requirements

Verify the contractor is eligible to perform work on public works projects.

Required Training– Effective July 1, 2019 Exempt from this requirement. Completed the training on 6/26/2019

Contractor Strikes No strikes have been issued against this contractor.

Contractors not allowed to bid No debarments have been issued against this contractor.

Workplace Safety & Health

Check for any past safety and health violations found on jobsites this business was responsible for.

Inspection results date 10/09/2024 Inspection no.

317981453 Location 1104 Walnut St Kelso, WA 98626 Violations

SWOFFORD EXCAVATING POST-BID SUBMITTAL

Mandatory Bidder Responsibility Statement

The Apparent Low Bidder must document that they meet the Mandatory Bidder Responsibility Criteria as defined by RCW 39.04.350(1). Deliver form within 24 hours after bid opening.

General Information		
Project Name: Sw Cascade Ave Utility Improvements	Project Nun	
Bidder's Business Name:		0814
	Bid Submitt	
Swotterd Excavating	6/24	25 @ 2pm
Contractor Registration – <u>https://fortress.wa.gov/lni/bbip</u> License Number:		
	Account Act	ive
SWOFFELYO9DC	¢,Yes	o No
ffective Date (must be effective on or before Bid Submittal Deadline):	Expiration D	ate:
3/3/2020	3141	2026
Current UBI Number – <u>http://dor.wa.gov/content/doingbusiness/registerm</u>		
JBI Number:	Account Stat	:us:
404-079-777	Open	o Closed
ndustrial Insurance Coverage – https//fortress.wa.gov/Ini/crpsi/mainmenu	.aspx	l
Account Number:	Account Cur	rent:
64112800	Yes	o No
mployment Security Department Number		
mployment Security Department Number:		
tate Excise Tax Registration Number – <u>http://dor.wa.gov/content/doingbus</u>	iness/register	mybusiness/brd/
ax Registration Number:	Account Clos	ed:
81-5002744	≪ Open	o Closed
lot Disqualified from Bidding – ttp://www.lni.wa.gov/tradeslicensing/prevwage/awardingagencies/debarr	adaastrastar	
	o Yes	w.No
hecked by:		
	Date:	
Debra Swoffind	6/25/	25

Work Experience Form

Please complete one form per project and include the minimum number of projects (and forms) as requested. You may include any additional work experience you deem relevant in determining bidder responsibility. Please be sure to provide a thorough description of the work in order to demonstrate how your firm meets any required experience detailed in the specifications. You may attach additional documentation if needed.

PROJECT DETAIL

Diddada Carrowski						
Bidder's Company Name Swoffwd excavating	bra Swufter 340-771-5037					
Project Name		Project Contract Number				
SR 14 waterline Replace	emect	23880				
Project Owner City of Bingen	Project Location Bingin WA SR 14					
Owner's Representative Contact Name & Title	e	Owner's Representative Te	lephone Number			
Krista loney		509-493-2122				
Notice to Proceed Date Final Completion	Date	Awarded Contract Value	Final Contract Price			
Ime 24' July 24'		179,901-25	179,907.25			
Project Prime Contractor Name (If Not Bidder)	Project Contractor Contact Name & Phone Number (If Not Bidder)				
Project Description	l					
Provide HOPE Fusion restoration within	Wa 35wo	Hrune along si whing days.	RI4 Surface			

Summary of Technical Work Completed by Bidder and/or Subcontractor, Including Any Relevant Details to Demonstrate Similar Experience and Any Required Experience Detailed In the Specifications All work dure & completed by Swotherd. Assessment of Work Completed (Quality Control, Safety Record, Timeliness of Performance, Use of Skilled Personnel, Management of Subcontractors, Availability of and Use of Appropriate Equipment, Compliance with Contract Documents, Management of Submittals Process and Change Orders) Swoffurds own equipment. Quality checks due by owner Contract was completed on time with all owners.

Work Experience Form

Please complete one form per project and include the minimum number of projects (and forms) as requested. You may include any additional work experience you deem relevant in determining bidder responsibility. Please be sure to provide a thorough description of the work in order to demonstrate how your firm meets any required experience detailed in the specifications. You may attach additional documentation if needed.

PROJECT DETAIL

Bidder's Company Name		Bidder	s Contact Name & Phone Nun	nber			
Swoffurd Excavating Debra			a swofferd				
Project Name	, 		360-771-9037				
vakand myrtle	waterth	e	Project Contract Number				
Project Owner			Project Location				
city of Scappoo	se or		oak and myrtle	Scappouse or			
Owner's Representative Co	ontact Name & T	itle	Owner's Representative Te	lephone Number			
Reed Kelly en	gineering						
<i>2</i>	ASSIST	ant	503-543-7184 -ext 405				
Notice to Proceed Date	Final Completion	on Date	Awarded Contract Value	Final Contract Price			
may	711/25		332,661.40	332,4661.40			
Project Prime Contractor N	lame (lf Not Bidd	er)	Project Contractor Contact (If Not Bidder)	Name & Phone Number			
Project Description							
excavation							
traffic centro	1 10701	Fot	slipuc Connectic	ms, Fire hydrants			
			restmation				
1000	VICE S						

Summary of Technical Work Completed by Bidder and/or Subcontractor, Including Any Relevant Details to Demonstrate Similar Experience and Any Required Experience Detailed In the Specifications

All work except not raps due by shutterd Assessment of Work Completed (Quality Control, Safety Record, Timeliness of Performance, Use of Skilled Personnel, Management of Subcontractors, Availability of and Use of Appropriate Equipment, Compliance with Contract Documents, Management of Submittals Process and Change Orders) All contract was met with schedule + timeline. AN equipment is owned or was rented by owner of Swother Quality control was done by ormers msize.

Please complete one form per project and include the minimum number of projects (and forms) as requested. You may include any additional work experience you deem relevant in determining bidder responsibility. Please be sure to provide a thorough description of the work in order to demonstrate how your firm meets any required experience detailed in the specifications. You may attach additional documentation if needed.

PROJECT DETAIL

Bidder's Company Name		Bidder	s Contact Name & Phone Nun	u h au		
			Scontact Name & Phone Number Dra Swuffind 360-771-5037			
Project Name. Wath main repu	connent	Project Contract Number				
Project Owner Clark Public L	かれなかとら	Project Location Hockinson				
Owner's Representative Co Nick Hagg	ntact Name & Til	tle	Owner's Representative Te 340 - 992 - 802			
Notice to Proceed Date	Final Completio	n Date	Awarded Contract Value	Final Contract Price		
12/3/25	6/25/25		6369220.57	742,220.51		
Project Prime Contractor N	ame (If Not Bidde	er)	Project Contractor Contact (If Not Bidder)	Name & Phone Number		
Project Description			1			
			out 4" wather			
Clark conty.	NºE 190th	- 1918	Ave side of.	New five		
hydrants and						

Summary of Technical Work Completed by Bidder and/or Subcontractor, Including Any Relevant Details to Demonstrate Similar Experience and Any Required Experience Detailed In the Specifications

All work except filling line which and paving + chip stall was done by Swoffind.

Assessment of Work Completed (Quality Control, Safety Record, Timeliness of Performance, Use of Skilled Personnel, Management of Subcontractors, Availability of and Use of Appropriate Equipment, Compliance with Contract Documents, Management of Submittals Process and Change Orders)

An equipment is owned or was vented to insure timeline was met. All individules ensite and working have over 3 year experience in excavation owner & formans have H t.

Work Experience Form

Please complete one form per project and include the minimum number of projects (and forms) as requested. You may include any additional work experience you deem relevant in determining bidder responsibility. Please be sure to provide a thorough description of the work in order to demonstrate how your firm meets any required experience detailed in the specifications. You may attach additional documentation if needed.

PROJECT DETAIL

Bidder's Company Name	Bidder's	Contact Name & Phone Nun	nber
Swoffurd Excavato		Jora Surfard	
	1	360-771-503	1
Project Name		Project Contract Number	21
Northphase Water	me	2024	
Project Owner		Project Location	
Northphase Waten Project Owner City of goldindal	L	goldenda	le un
Owner's Representative Contact Nan	ne & Title	Owner's Representative Te	elephone Number
Nathan Bischoff		509-773-4	945
Notice to Proceed Date Final Cor	mpletion Date	Awarded Contract Value	Final Contract Price
November 24 Jan	2025	1,399,628.50	7719 092.93
Project Prime Contractor Name (If No	ot Bidder)	Project Contractor Contact (If Not Bidder)	Name & Phone Number
Project Description			
181015, of 10"	F B" Way	ertine 3,931	oful
181015 OF 10"	51 Servic	es la como la colo	Longia to restruction
		one rega	ricurus, it storente

Summary of Technical Work Completed by Bidder and/or Subcontractor, Including Any Relevant Details to Demonstrate Similar Experience and Any Required Experience Detailed In the Specifications

All work except hot taps + paving alme by Snuffard.

Assessment of Work Completed (Quality Control, Safety Record, Timeliness of Performance, Use of Skilled Personnel, Management of Subcontractors, Availability of and Use of Appropriate Equipment, Compliance with Contract Documents, Management of Submittals Process and Change Orders)

Quality until was complete and mode sure desting went Smooth. Skilled uniters nowing whent to do made this jub go smooth. time une was an issue due to city not working u / contractor for witting soud Rak or unmarked locates.